Grade 7:  MMM&R Exercise C

Mean, Median, Mode, & Range:  Exercise C
1. The table below describes the average number of homeruns per game by decade. 

	Decade
	Avg. # of homeruns

	1960s
	1.64

	1970s
	1.49

	1980s
	1.62

	1990s
	1.91

	2000s
	2.21


  Part #1:  Calculate the overall mean number of homeruns over the past five 
       decades.  __________
            Part #2:  Find the median for this data.  __________

2. The volleyball coach is ordering shoes for the girls for the fall season.  She records the sizes below for her current team members, and she decides she will order three extra pairs for new students that move into the district after the order is placed.  
  She decides to order the shoes based on statistical averages (one size will   

  represent the mean, one size will represent the median, and one size will 
  represent the mode.)  
Find the three sizes she will order.  Label your answers.

Shoe sizes:  9   9
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    10     9    7
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     11    7
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3. Ms. Pena had her 8th grade social studies students follow the stock market as a class economics project. Marcos and Maria recorded the rate of change for the Nike® stock daily for a one week period. Their results are listed in the table below.

                                
                                      

	Day
	Monday
	Tuesday
	Wednesday
	Thursday
	Friday

	Amount of change
	+2
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	-1.5
	+3.2
	-1
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Part #1:  Find the median rate of change for the Nike® stock.  _______

 (Show the ordered list!)  
Part#2:  Find mean rate of change for the stock.  ___________
4. Michael had a football game on Friday night.  He carried the ball six times during the game.

	Michael’s carries
	Yards Gained/Lost

	1st carry
	+23

	2nd carry
	-10

	3rd carry
	+7

	4th carry
	+18

	5th carry
	-15

	6th carry
	+31


     Find Michael’s mean, median, mode, and range for number of yards gained or 

     lost on his six carries.  Label your answers.

5. Coach Hector recorded the number of strokes for a recent golf      
       game. On the last 8 holes that he played, he was always over or

            under par. The data he recorded is listed in the chart below.

                    

	Hole #
	1
	2
	3
	4
	5
	6
	7
	8

	Strokes in relation to par
	-1
	2
	-3
	-2
	0
	0
	-2
	0


Note:  negative numbers represent strokes under par and positive number represent strokes over par.  Which measure of data would give Coach Hector the lowest golf score?  [Prove it by finding each value!]
A.  mean               B.  median               C.  mode               D.  range
6. Daniel, Zachary, and Tommy collected data on record wind chill factors in cities across the United States for the month of January.  Their results are shown in the table below.  

                             

	City
	Seattle
	Chicago
	Boston
	Corpus

Christi
	Atlanta
	Jackson
	Salt Lake City
	Phoenix

	Wind Chill 

Factor
	-2°
	-8°
	-20°
	18°
	0°
	7°
	-2°
	22°


Which measure of data (mean, median, mode, or range) would be affected the most if Tallahassee was added to the table with a record wind chill factor of 40 degrees?

A.  mean               B.  median               C.  mode               D.  range
7. The table below describes the amount of money each girl earned babysitting last week after school. Determine if each of the following statements is supported (TRUE) or NOT supported (FALSE) by the table. Prove or justify your TRUE/FALSE answer for each statement below
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Name
	Amount $ Earned
	# Hours Worked 
	Hourly Wage

	Bianca
	$19.50
	3
	$

	Janie
	$20.00
	4
	$

	Melissa
	$21.00
	4
	$

	Audrey
	$30.00
	5
	$

	Sarah
	$17.25
	3
	$

	Emily
	$13.00
	2
	$


________(1)The mode number of hours worked is 3.5 hours.
________(2)The range in the amount of money earned is $17.00
________(3) Emily’s hourly wage is the lowest.
________(4) Sarah’s hours worked represents the median # of hours worked.

________(5)Audrey earned at least twice as much as Emily.
8. The table below shows some recent box office hits and how many people around the country attended the movie in its first week of showing in millions of people.

	Movie
	# of Viewers in Millions

During Week One

	Batman Begins
	1.75

	Herbie:  Fully Loaded
	2½  

	The Perfect Man
	                3.28

	Star Wars:  Episode III
	5¾


Which statement below is NOT supported by the data in the table?

A. The mean number of viewers that attended the movies selected was greater than 3,250,000 viewers.

B. The range in movie viewers is 4,000,000 viewers.

C. Star Wars:  Episode III brought in more viewers than The Perfect Man and Herbie:  Fully Loaded combined.

D. The median number of viewers that attended all movies is less than 3,000,000.

Money Earned Babysitting Last Week
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